d?c / d N d p" [pbiGeV]

Ratio to ATLAS

iR
S

|
o
2

1074

[EEY

0.5

13000 GeV pp

= | T [T | L T 17T T 717 | Tt T T T —] ﬂ
— i
— top . : 1<
— P, (ATLAS semileptonic ttbar) sl
- =
| — <t
N
| —] A\l
= dJo
- ——
- 1
| N @
o m 1<
‘ o
= \§ E
: \Q\\z\\\\' :
.. =)
B E\x\ QQ‘** (;r)
N ‘.. ™
- m ATLAS.. e =
— . S Ve -
- --o- Pythia 6.428:390 - 15
~ - 8- Pythia 6.428 39T, .. 12
- Pythia6.428392 X 15
_ NX. x —
+-- Pythia 6.428 396 TNy S
= --+-- Pythia 6.428 397 AN El=
—  --w-- Pythia 6.428 398 % 15
B — 0
[ —3
B | o
(@]
| | | | ' | | | | | | | | | | | | | E
: T | T T T T | T T T T | T T T T |:
- 4 EL
— Tk ]
¥ 1
B F : .
— ///’?\‘ i e —? —
B g,gs %:\; % DnEETT Tioisizizioioies % —
- 7 }
| —0.5
1 " | " 1 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 |
500 1000 1500 00



	Contents
	Page 1


